2023-2024 University Campus Tuition & Fees Undergraduate

Direct Costs for Students Living on Campus (Full-time*)	Per Semester	Per Year
Tuition**	\$13,120	\$26,240
Average Housing (See Residence Hall Room Rates)	\$4,342	\$8,684
Meal Plan (19 meal plan)	\$3,520	\$7,040
Fees (Orientation, Success, Technology, Health & Student Activity)	\$1,060	\$2,120
Total Direct Cost	\$22,042	\$44,084

*Full time refers to 12-18 credit hours per semester.

**Tuition may increase annually

1-11 credit hours per semester = \$675.00 per credit hour

19 or more credit hours per semester (excluding 3+1 students) = \$360.00 per credit hour

Per Semester	Per Year
\$390	\$780
\$1,290	\$2,580
\$1,152	\$2,304
\$24,874	\$49,748
	\$390 \$1,290 \$1,152

*The indirect costs listed here are estimated average expenses; actual costs will vary from student to student.

Weekly Meal Plans	Per Semester	Per Year
19 Meal Plan	\$3,520	\$7,040
10 Meal Plan	\$2,335	\$4,670
5 Meal Plan	\$1,170	\$2,340
Commuter Meal Plan (Block of 10 meals)	\$155	\$310

Unlimited plan discontinued, replaced with 19 meal plan

All resident students are required* to be on one of the following meal plans. *Requirements:

• Residence halls (excluding 1-4) are required to be on the 19 meal plan

• Apartment buildings 1-4 can choose from the 5, 10 or 19 meal plan

Additional Fees (If Applicable)	Per Year
Student Health Insurance*	\$1,845
Parking Decal (Resident Student)	\$75
Parking Decal (Non-Resident Student)	\$50
Student Success Fee	\$290
Technology Fee	\$390
Student Activity Fee	\$490
Orientation Fee (New Students Only) \$250 for Spring Start	\$500
Health Fee	\$450

*May be waived with appropriate proof of family or individual health insurance.

Residence Hall Housing Rates	Per Semester	Per Year
Alumni Double	\$3,725	\$7,450
Alumni Double Single	\$5,590	\$11,180
Benoit/Henderson Room	\$3,415	\$6,830
Benoit/Henderson Double Single	\$5,125	\$10,250
Benoit/Henderson Physical Single	\$4,090	\$8,180
Benoit/Henderson Triple	\$3,415	\$6,830
Henderson Quad Room	\$3,415	\$6,830
Marmion/Snyder Room	\$3,415	\$6,830
Marmion/Snyder Double Single	\$3,415	\$6,830
Snyder Garden Level	\$3,725	\$7,450
Snyder Garden Level Triple	\$3,415	\$6,830
Aarmion Physical Single	\$4,035	\$8,070
Apartment 1-2 Double Room with Kitchen	\$5,175	\$10,350
Apartment 1-2 Double Room with Kitchenette	\$4,265	\$8,530
Apartment 1-4 Single with Kitchen	\$5,580	\$11,160
Apartment 1-2 Single with Kitchenette	\$4,635	\$9,270
Apartment 1-2 Hallway Double Single with Kitchenette	\$6,420	\$12,840
Apartment 1-2 Hallway Double with Kitchenette	\$3,725	\$7,450
Roderick Physical Single	\$4,035	\$8,070
Buildings 5 & 6 Single	\$4,235	\$8,470
Buildings 5 & 6 Apt. Double Single	\$3,955	\$7,910
Buildings 5 & 6 Apt. Double	\$5,930	\$11,860
/illa	\$3,415	\$6,830
/acation Housing & Food (Christmas Break)	\$1,000	n/a
/acation Housing & Food (Summer I)	\$2,000	n/a
/acation Housing & Food (Summer II)	\$2,000	n/a
Other Fees & Deposits		
nternational Credential Evaluation Fee		\$250
udit Fee (Visitors & Part-Time Students)		\$250
Degree Conferral Fee (Regardless of participation in commencement)		\$140
Certificate Fee		\$70
D or Food Card Replacement		\$30
Official Transcripts - Electronic		\$15
Official Transcripts - Paper		\$35
Rush / Overnight Delivery - Domestic		\$40
Rush / Overnight Delivery - International		\$70
uition Deposit Reservation (Non-Refundable)		\$500
Private Music Instruction (Average)		\$400
Course Challenge Examination		\$85
Research Fee (per hour-accounts over 5 years old)		Max by state
Returned Check Fee (varies depending on amount)		Max by state
Replacement Diploma		\$40
Portfolio Evaluation		\$130
Course Materials Connection Program*		\$26 per credit

*May be waived by following opt-out procedures.

Cost of Attendance*

New Undergraduate - Per Year	On Campus	Off Campus
Tuition (12-18 Credits)	\$26,240	\$26,240
Fees (Orientation, Success, Technology, Health & Student Activity)	\$2,120	\$2,120
Books	\$780	\$780
Housing	\$8,684	\$10,260
Food	\$7,040	\$3,132
Personal	\$2,580	\$2,580
Transportation	\$2,304	\$2,304
Total	\$49,748	\$47,416

Cost of Attendance*

New Undergraduate - Per Semester	On Campus	Off Campus
Tuition (12-18 Credits)	\$13,120	\$13,120
Fees (Orientation, Success, Technology, Health & Student Activity)	\$1,060	\$1,060
Books	\$390	\$390
Housing	\$4,342	\$5,130
Food	\$3,520	\$1,566
Personal	\$1,290	\$1,290
Transportation	\$1,152	\$1,152
Total	\$24,874	\$23,708

Cost of Attendance*

Returning Undergraduate - Per Year	On Campus	Off Campus
Tuition (12-18 Credits)	\$26,240	\$26,240
Fees (Success, Technology, Health & Student Activity)	\$1,620	\$1,620
Books	\$780	\$780
Housing	\$8,684	\$10,260
Food	\$7,040	\$3,132
Personal	\$2,580	\$2,580
Transportation	\$2,304	\$2,304
Total	\$49,248	\$46,916

Cost of Attendance*

Returning Undergraduate - Per Semester	On Campus	Off Campus
Tuition (12-18 Credits)	\$13,120	\$13,120
Fees (Orientation, Success, Technology, Health & Student Activity)	\$810	\$810
Books	\$390	\$390
Housing	\$4,342	\$5,130
Food	\$3,520	\$1,566
Personal	\$1,290	\$1,290
Transportation	\$1,152	\$1,152
Total	\$24,624	\$23,458

*The Cost of Attendance budget is based on federal guidelines and is used to determine financial aid eligibility; and is a representation of estimated average cost.

**Returning students do not have to pay an Orientation fee, only a Student Activity, Success, Health, and Technology fee

Specific Course Fees	Course	Fee per Semester
Art Studio	ART studio courses	\$65

Assessment Test	ECO-201; GBA-298; GBA-398; ACC-505; ACC-549; COM-590; HCM-590; HUS-498; MBA-525; MBA-599; DBA-701; DBA-765; COM-498; COM-590; HRA-596; MKT-569; SPB-570	\$100
Assessment Test	HUS-498	\$175
Criminal Justice Command School - Grad Fee	CRM-300; CRJ-500	\$140
Laboratory	BIO-100, BIO, CHE, PHY Lab Courses	\$100
Private Music Instruction	MUS-120; MUS-220; MUS-320; MUS-420	\$400
Proctor Fee	Proctoring Placement Exams	\$50

2023-2024 tuition and fees are effective as of July 1, 2023. 2023-2024 tuition and fee changes were approved as of October 2022